Name Date

Free Mastering Maths Number Worksheet

Order of Operations using brackets and numbers between 1 and 50
Tip: Remember Big Elephants Do Massive Sneezes, Atchoo!

(46 -27-11) + 34 = (28-5)+ (48x 12) = (7-26)-33-40=
(16-22)-23x7= (35-26) +2+41 = (40 - 22) + (47 + 24) =
43+46+28+2= (48 x 29) + (6 + 25) = 47 + (3 +50) - 47 =
17-8-8x13 = 46 + (49 - 49 - 49) = 41+ (47-38)x9=
22-8x(32-9) = 39-(36+4)-25= 6+ (41-44-42) =
(22 +13) + (47 x5) = 42 - (46 - 50) x 48 = (35 - 50) x (10 - 44) =
(13-5)x (44 x 28) = 26 x (9+3)+17 = (27 x 34 +15) -37 =
20 +11x (12X 6) = (36 +19+23) +3= 37-11-(48-27)=
37+23-3x4= 19 X 50 X (14 - 26) = 16 + (17 - 14 +16) =
(40X 45X 27) + 18 = 33-26x (14 -34) = 35x (42 +24+12) =

Congratulations! Now ask somebody to mark
your work and place your total in the star
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